1.

From the following identify one

which is not a collusive oligopoly

model 

(A) Cartels

(B) Edgeworth Model

(C) Price Leadership

(D) Market Share Model 

2.

The rate at which the consumer can

trade one good for another is termed

as marginal rate of substitution in

(A) exchange

(B) consumption

(C) production 

(D) the distribution 

3.

If demand equation is given by 

D = 1000 – P and the supply equation

is given by S = 100 + 4P, price will

be

(A) 160

(B) 180

(C) 170

(D) 200

4.

Arrange the following steps,

involved in the estimation of a

demand function using econometric

analysis, in the proper order

(i) Collection of data

(ii) Estimating the parameters of

the model

(iii) Mathematical specification of

the relationship among the

variables

(iv) Using the estimates to arrive at

the estimates of variables.

(v) Identification of variables 

Codes :

(A) (v), (i), (iii), (iv), (ii)

(B) (i), (ii), (iii), (iv), (v)

(C) (i), (ii), (iv), (iii), (v)

(D) (v), (i), (iii), (ii), (iv)

5.

Match the items given in Column A

with the suitable items given in

Column B :

Column A 

Column B

a. Maximisation of

society’s welfare

even when

individuals behave

selfishly to further

their own

economic status.

i. Equilibrium 

b. State of balance

from which there

is no tendency to

change.

ii. Non-Satiation

c. Best possible state

within a given set

of constraints.

iii. The invisible

hand

d. A situation

wherein a

customer always

prefer more of

goods to less of 

goods.

iv. Optimisation

Codes :

a b c d

(A) iv i iii ii

(B) ii i iv iii

(C) iii i iv ii

(D) iv i ii iii

6.

Which one is not the technique of

personality measurement ?

(A) Projective Technique

(B) Word Association Technique

(C) Raven’s Progressive Matrices

(D) Sentence Completion Technique 

7.

Drive is explained by

(A) any strong stimulus that impels

action.

(B) any object, event exiting in the

environment. 

(C) anything that increases the

repetition of behaviour.

(D) none of the abov 8.

Consider the following phases of

Organisational Development (OD) :

a. Entry into the organisation

b. Development of internal

resources

c. Problem identification

d. Specific intervention

e. Building a collaborative culture

Rearrange the above stages in an

orderly sequence :

(A) a → c → b → d → e

(B) a → b → c → d → e

(C) c → b → a → e → d

(D) a → c → d → e → b

9.

Match the following :

Explanation

Term

a. The beliefs or

ideas one has

about an object

or situation

1. Attitude

b. The feelings or

emotions one

has about an

object or

situation

2. Cognitive

component

c. Psychological

discomfort

experienced

when attitudes

and behaviour

are inconsistent

3. Affective

component

d. How one intends

to act or behave

toward someone

or something

4. Behavioural

component

e. Learned

predisposition

toward a given

object

5. Cognitive

dissonance 

Codes :

a b c d

e

(A) 1 2 3 4 5

(B) 2 3 5 4 1

(C) 3 2 4 5 1

(D) 5 3 4 2 1

10. Match the theories given in 

Column – I with the explanations in

Column – II :

Column – I 

Column – II 

a. Super ego

1. Individual

moves from a

state of passivity

as a child to

state of activity

as an adult.

b. Closure

2. Social values

and personal

norms that serve

as an ethical

constraint on

behaviour.

c. Immaturity –

Maturity

Theory

3. Perception of a

person

about

how others are

perceiving his

qualities. 

d. Looking

glass-self

4. People when

faced with

incomplete

information tend

to fill gaps

themselves.

Codes :

a b c d

(A) 1 2 3 4

(B) 1 2 4 3

(C) 2 1 3 4

(D) 2 4 1 3

11. What is the procedure in which an

employer and a group of employees

agree to the conditions of work ?

(A) Dispute settlement 

(B) Collective bargaining

(C) Industrial democracy

(D) None of the above

12. Factor comparison method is used as

a technique of

(A) Job Analysis

(B) Job Evaluation

(C) Job Design

(D) None of the above 13. Succession planning can best be

explained by

(A) Activity in which managers

make decisions regarding the

advancement potential of

subordinates.

(B) Activity that focuses on preparing

people to fill executive positions.

(C) A chart showing the possible

directions and career opportunities

available in an organization.

(D) None of the above

14. Employees join union when they

(A) are dissatisfied with certain

aspects of their jobs.

(B) feel that they lack influence

with management to make the

needed change.

(C) feel unionization as a solution

to their problems.

(D) all the above

15. Identify the correct sequence of the

steps of grievance procedure required

to be followed for the grievance handling 

1. Departmental Manager

2. Immediate Supervisor

3. Arbitration

4. Trade Union’s intervention 

(A) 1, 2, 3 & 4 (B) 2, 3, 1 & 4

(C) 2, 1, 4 & 3 (D) 2, 4, 1 & 3

16. Match the following :

a. Job

posting

system

1. A

company

maintained record

of

employee’s

abilities,

skills,

knowledge

and

education.

b. Career

path

2. A chart showing the

possible direction

and opportunities

available to an

employee in the

organization.

c. Skills

inventory

3. A collection of career

development

materials.

d. Career

Resource

Centre

4. A system in which

an organization

announces job

openings. 

Codes :

a b c d

(A) 1 2 3 4

(B) 2 3 4 1

(C) 4 2 1 3

(D) 3 4 1 2

17. Match the following :

a. Attrition

1. Separation that

occurs when an

employer

decides

to

terminate

its

relationship with

an employee due

to

economic

necessity.

b. Down sizing 2. A company’s

strategy of

separation of

employees to

reduce the scale

(size) and scope

of its business in

order to improve

the company’s

financial

performance.

c. Involuntary

separation

3. The process of

reorganizing a

company’s

employees to

improve their

efficiency. 

d. Right sizing 4. An employment

policy designed

to reduce the

company’s

workforce by

not refilling job

vacancies that

are created by

turnover.

Codes :

a b c d

(A) 1 2 3 4

(B) 4 2 1 3

(C) 3 2 4 1

(D) 2 1 3 4

18. Which one of the following is the

advantage of team-based pay for

performance plans ?

(A) Financial incentives can shape

a person’s goals.

(B) Can help the firm to attain

individual equity.

(C) Fit an individualistic culture.

(D) Aids performance measurement 19. Which one of the following is not

Human Resource requirement

estimation method ?

(A) Regression Analysis

(B) Ratio Analysis

(C) Top-down Approach

(D) All of the above

20. Which of the following form for

improving workers participation in

management was included in the

recommendations of the Justice

Rajinder Sachar Committee report ?

(A) Works Committee

(B) Joint Management Council

(C) Workers’ representation in the

Board of Directors and

allotment of equity to workers

(D) Unit Council

21. JK Ltd. has earned 8% return on total

assets of ` 50,00,000 and has a Net

Profit Ratio of 5%. Find out the sales

of the firm. 

(A) ` 4,00,000 (B) ` 2,80,000

(C) ` 80,00,000 (D) ` 83,33,333

22. Net Present Value Method and

Internal Rate of Return Method of

capital budgeting techniques may give

conflicting accept-reject decision due to 

1. Disparity in initial investment

2. Disparity in timing of cash flow

3. Disparity in the life of the project

(A) 1 only

(B) 2 only

(C) 1 and 2 only

(D) 1, 2 and 3

23. Beta B of risk-free investment is 

(A) – 1

(B) 0

(C) 1

(D) None of these

24. A firm’s inventory planning period is

one year. Its inventory requirement

for this period is 400 units. Assume

that its acquisition costs are ` 50 per

order. The carrying costs are

expected to be ` 1 per unit per year

for an item. What is EOQ ?

(A) 800 units

(B) 200 units

(C) 100 units

(D) None of the above

25. Margin of Safety ratio can be

calculated as

(A)

Actual Sales – Breakeven Sales

Actual Sales

× 100

(B)

Actual Sales – Break-even Sales

Break even Sales

× 100

(C)

Break even Sales – Actual Sales

Actual Sales

× 100

(D)

Break even Sales – Actual Sales

Break even Sales

× 100

26. This cost arises out of the failure of

the customers to meet their

obligations when payment on credit

sales becomes due after the expiry of

the credit period.

(A) Default Cost

(B) Delinquency Cost

(C) Capital Cost

(D) Collection Cost

27. The following data are available from

the annual report of a company :

Current Assets ` 4,80,000; Current

Liabilities ` 3,00,000; Average total

assets ` 20,00,000; Operating income

` 2,40,000; Average total equity 

` 8,00,000; Net income ` 80,000. 

Which of the following statement is

correct ?

(A) Return on equity exceeds the

return on assets.

(B) Working capital is ` 12,00,000.

(C) Current Ratio is 0.625 to 1.

(D) None of the above.

28. The annual credit sales of a firm is 

` 12,80,000 and the debtors amount

to ` 1,60,000. The debtors turnover

and average collection period are

_____.

(A) 4 & 90 days

(B) 8 & 45 days

(C) 6 & 60 days

(D) 8 & 60 day 29. The formula used for valuation of

equity shares with assumption of

normal growth in dividend is

(A)

D

0

Ke – g 

(B)

D

1

Ke – g 

(C)

E

0

Ke – g 

(D)

E

1

Ke – g 

30. Match the following :

List – I 

(Statement)

List – II

(Term)

I. A combination of two

puts and one call with

the same exercise

price and expiration

date.

1. Strap

II. A combination of one

put and two calls with

the same exercise

price and expiration

date.

2. Strip

III. A portfolio of put

and call with the same

expiration date but

with different exercise

price.

3. Strangle

IV. A position where the

option writer does not

hold a share in his

portfolio that has a

counter

balancing

effect.

4. Naked

option

Codes :

I II III IV 

(A) 2 1 3 4

(B) 1 2 3 4

(C) 2 1 4 3

(D) 1 3 2 4

31. “Motivational research is a form of

market research that attempts to

discover the deeper reasons why

people buy.” Who said it ?

(A) Manson and Rath

(B) Stanton

(C) Still and Scweff

(D) Philip Kotler

32. In multi level channel arrangement

Jobber stands in between ________.

(A) manufacturer and wholesaler

(B) wholesaler and retailer

(C) retailer and consumer

(D) none of these

33. A company following a strategy of

advertising the product for a period

followed by a period with no

advertising is called

(A) Concentration

(B) Flighting

(C) Pulsing

(D) Continuity

34. Franchise organisation is an example

of ______ vertical marketing system.

(A) Corporate

(B) Administered

(C) Contractual 

(D) Co-operative

35. Three statements are given below :

Statement – I : Introducing

an

existing product in

the new market is

called

market

development.

Statement – II : Introducing a new

product in the

existing market is

called

diversification.

Statement – III : Introducing

an

existing product in

the existing market

is called market

penetration.

Choose the correct option about the

statements from among the options

given below :

(A) Statements I & II are only

correct.

(B) Statements I & III are only

correct.

(C) Statements II & III are only

correct.

(D) Statements I, II & III are

correct.
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1.

抵泣 现Œ埴化之种 综 ‘‹埴 弥粗抵志肿 坳 诸更之 /nobr>

ˆ持株葜 ˆ弥 †局赚 粗 沏 #8225; †值 †诸更 庄 #8221;诌
†局赚 坳 诸更之 仓“ #376;种 埴 †值 更 †脂种赘 #376; /nobr>

泣株葜 font style="font-size:16px">’ 综 拙 #8220;种更埴 埴 祁 ?

(A) ‡更鼐州 妆指 /font>

(B) 毕膪埴株 粗株 #8250;肿恢抵之诌
(C) ›婵之 仓旮
(D) 更烛仓™渣 泣只 /font>

2.

桩执谆肿苤Ÿ 粗 弥 ˆ弥埴 泣“种 埴咦• #8249; •种 /nobr>

†赚执种 局畚 埴 恢踔拗 泣 祁 :

(A) †赚执种 局畚 †株粗丬诌 œ志种 泣株Ÿ诌 骑 …

(B) †赚执种 局畚 粗婊 埴 †株更 †局Ÿ只 泣株Ÿ诌
骑 …

(C) †赚执种 局畚 粗婊 埴 †株更 ˆ⒅恢 泣株Ÿ 诌 骑 …

(D) †赚执种 局畚 ‹埴 ゆ指挈 埴株 埴 #8482; #376;诌 泣 …

3.

桩执谆肿苤Ÿ 粗 弥 埴诸 弥 埴Ｖ 弥泣 祁 ?

(A) 仓槠 #376; †Ｖ钥种谩诌抵 酌吱 #376;种 坳 弥恐ŒŸ 

–种 坳 撞之种 镜种局弥肿抵埴 桩洲衷抵 泣 谆 #8249;

•种 弥埴Ÿ株 …

(B) †Ｖ钥种谩 坳 酌吱 #376;种 埴 –种 镜种局弥肿抵埴
桩洲衷抵蛛 埴株 恢戤株 粗 持现粗埴 泣株Ÿ种 祁 …

(C) †Ｖ钥种谩 坳 酌吱 #376;种 埴 弥泣值 #376;种 弥 弥泣 /font>

婢种援帚粗之 恢葜之种 弥映志 泣株Ÿ种 祁 …

(D) †Ｖ钥种谩 埴  #376;抵贳 酌吱 #376; 抵Ｖ郑衷埴
Ÿ郑抵蛛 更 †脂种赘 #376; 泣株Ÿ种 祁 •种 弥持 弥粗 #8226;种 /nobr>

粗 弥粗之 泣株Ÿ株 骑 …

4.

嫜•诌-仓• #8482; 坳 †弋 桩洲衷抵 坳 谆 #8249; 桩执谆肿苤Ÿ /nobr>

埴株 ˆ #8220; #376; 畚 咦• #8249; :

(i) 厦Ÿ种局蛛 埴 恢州 #376; †诸更 恢殖 埴 †愦种
(ii) 桩志株恐 恢醯 埴 桩洲衷抵
(iii) 弥局粤株 #353; 桩志株恐 厦Ÿ种局 埴 “值之 /font>

(iv) 嫜•诌-仓• #8482; 桩洲衷抵 Ÿ舟诌埴 埴株 恢葜之种
坻 #8482; :

(A) (ii) (iv) (i) (iii) 

(B) (ii) (iv) (iii) (i)

(C) (ii) (i) (iv) (iii)

(D) (ii) (i) (iii) (iv)

5.

弥 #8220;诌-A 埴 粗蛛 埴株 弥 #8220;诌-B 埴 粗蛛 弥 弥愦株谆 #376; /nobr>

埴咦• #8249; :

弥 #8220;诌 – A

弥 #8220;诌 – B

a. ‹埴 Š证Ÿ种 † /font>

†织 埴株 驳种• 更蛛 弥 /nobr>

仓“种 坳 谆 #8249;

献Ÿ殖宙 #376;值种 苤更撙 #376;种 祁 …

1. 驳种• 更 键 /font>

b. ‹埴 埴•衷指 † /font>

†织 埴株 驳种•证 坳 /nobr>

仓œ厅 弥 仓“种 坳 /nobr>

谆 #8249; 献Ÿ殖宙 #376;值种 /nobr>

苤更撙 #376;种 祁 …

2. 驳种•证 恐呗衷
c. 驳种• 更 恐呗衷 †诸更
柄恐 埴 弥拥种 #8226; 之 /nobr>

3. 驳种• 更
葜谆值种更 /nobr>

d. 株 †Ｖ局 株 弥 /font>

†赚舟 驳种• 更-

恐呗种 埴 弥拥种 #8226; 之 /nobr>

4. 驳种• 更 柄恐 /font>

坻 #8482; :

a

b c d

(A) 2

4 3 1

(B) 4

2 1 3

(C) 4

2 3 1

(D) 3

2 1 4

喜钟
峡≈ – II

桩证禳恐: ‡弥 峡≈ 粗 “种弥(50) 仓沏 拙舟叩 峡 骑 …  #376;抵贳 峡  坳 株(2) †盂 骑 … 弥持 峡 †桩志种抵 骑 …Page 4
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6.

The form of learning in which people

acquire new behaviours by systematically

observing the rewards and punishments

given to others is known as 

(A) Operant conditioning

(B) Positive reinforcement

(C) Modelling

(D) Law of effect

7.

Diffusion of routine information

takes place through

(A) Downward Communication

(B) Upward Communication

(C) Horizontal Communication

(D) External Communication

8.

An integrated group of activities to

bring about a change is known as

(A) Organisation development

(B) Interventions

(C) OCTAPACE

(D) Collaborative culture

9.

Match the following :

a. Motivation is a

function of

fairness in social

exchanges.

1. Expectancy

Theory

b. People are

motivated to

behave in ways

that produce

valued outcomes.

2. Alderfer’s

ERG

Theory

c. Determining

specific levels of

performance for

workers to attain

and then striving

to attain them.

3. Equity

Theory

d. When people are

frustrated by their

inability to meet

needs at the next

higher level in the

hierarchy, they

regress to the next

lower category of

needs and

intensify their

desire to gratify

these needs.

4. Goal-

Setting

Theory

Codes :

a b c d

(A) 1 2 3 4

(B) 4 3 2 1

(C) 3 1 4 2

(D) 3 4 1 2

10. Match the following :

a. Self-

efficacy

1. Determining

specific levels

of performance

for workers to

attain them.

b. Goal

setting

2. The belief that

one’s efforts

will positively

influence one’s

performance.

c. Expectancy 3. People strive to

maintain ratio

of their own

outcomes to

their own inputs

that are equal to

that of those

with whom they

compare

themselves.

d. Equity

Theory

4. One’s

belief

about having

the capacity to

perform a task.

Codes :

a b c d

(A) 1 2 3 4

(B) 4 1 2 3

(C) 3 4 1 2

(D) 2 3 4 1

11. Human resource planning system

includes

(A) Human resource supply forecast

(B) Human resource inventory

(C) Corporate plan

(D) All of the above

12. Who among the following propounded

the concept of collective bargaining ?

(A) Beatrice and Gompers

(B) Beatrice and Emerson

(C) Gompers and Emerson

(D) Gautt and Gompers 

13. What are the benefits of human

resource planning ?

(A) Achieve economy in hiring

new workers.

(B) Match personnel activities and

future organization objectives

efficiently.

(C) Improve the utilization of

human resources.

(D) All of the above Page 5
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6.

弥哕之株 埴 拙肿 #8226;置舟犏 † #376;州衷Ÿ 恢株葜, † 恢株葜蛛
埴株 状只之株 局只株 愀埴指 †诸更 弥•种†蛛 弥 拙肿局Ÿ /nobr>

œ狱葜 弥 ‹ 镜志制更蛛 埴株 弥哕 #376;株 骑 ˆ弥 埴泣Ÿ株 骑 /nobr>

(A) 综晰抵织窒弥 #376; †阚纡恢
(B) 弥埴指Ÿ粗埴 喜 只诌埴更拗
(C) 献 Ÿ趾洲 /font>

(D) 赘种粗 桩值执 /font>

7.

弥执种 弥 #8220;之种 埴 拙置指 综 坳 指 泣株Ÿ种 祁 ?

(A) †株 帚 诌 弥 #8220; 种更
(B) ‰局源帚苤 弥 #8220;种更
(C) 弥粗 #376;指 弥 #8220;种更
(D) 仓质 弥 #8220;种更
8.

赘 #376;衷 恢之株 坳 谆 #8249; 综晰抵 埴恢织种 坳 ‹埴咣辁Ÿ /nobr>

弥粗嫫 埴株 埴泣Ÿ株 骑 /nobr>

(A) 弥虞 #353; 拙舟弥
(B) 泣 #376;瞩株
(C) †烛 #8482;昝 /font>

(D) 弥泣抵株葜 弥用坶Ÿ /font>

9.

桩执谆肿苤Ÿ 粗 弥愦株恢 撞 #353;‡‹ :

a. 弥执种 #8226;舟 赘 #376;衷蛛 粗 /font>

†壮织窒旮 ‹埴 ˆ #8220; #376; 埴值衷 祁 …

1. †牾种
酌吱 #376; /nobr>

b. 恢株葜蛛 埴株 ‡弥 羡更 弥 /font>

†壮织窒曜更Ÿ 综种 •种Ÿ种 祁 综 /nobr>

ˆ埴 赘种粗 粗婊抵局之 泣株 …

2. ‹ #8250; /font>

埴 /nobr>

‡ †指. #8226;诌.

酌吱 #376; /nobr>

c. 埴仲粗埴蛛 坳 谆 #8249; 桩致证 坳 /font>

拙肿恐 #8482; #376;指 现 #376; 埴更 埴株
桩脂种宰更Ÿ 埴更 †诸更 妆 ˆ朦
‡弥 现 #376; 埴更 埴株 ˆŸ弥肿泣Ÿ /nobr>

埴更 …

3. 弥执抵 /font>

酌吱 #376; /nobr>

d. •植 恢株葜 † †抵株莸 #376;种 坳 /font>

埴指 弥株之 坳 †葜恢 /nobr>

ˆ““ #376;指 #376;指 埴 粗盅葜 埴株 娓
 埴更 之株 粗 桩指恐 泣株 •种Ÿ株
骑 Ÿ种 局 †葜恢 埴株 #8482; 埴 /nobr>

粗盅 种 埴 †株 粗 #8250; 厅Ÿ株 骑 †诸 /nobr>

ˆ 粗盅葜蛛 埴株 弥 #376;帚 #8482; 埴更 粗 /nobr>

•种旮 恢葜 #376;株 骑 …

4. 恢醯 

桩脂种愿  /nobr>

酌吱 #376; /nobr>

坻 #8482; :

a

b c d

(A) 1

2 3 4

(B) 4

3 2 1

(C) 3

1 4 2

(D) 3

4 1 2

10. 桩执谆肿苤Ÿ 粗 弥愦株恢 撞 #353;‡‹ :

a. 镁 #376; 

弥执郑抵 /nobr>

1. 埴仲粗埴蛛 坳 谆 #8249; 拙肿恐 #8482; /font>

桩致证 #376;指 桩脂种愿 埴更 /nobr>

Ÿ种综 局 ‡弥 现 #376; 埴更 弥垭 …

b. 恢醯 /font>

桩脂种愿 /nobr>

2. 抵泣 拙挚局置 综 ‹埴 镜肿ŒŸ /font>

坳 系种弥 ˆ弥坳 埴值衷
桩致证 埴株 弥埴指Ÿ粗埴 湖
弥 铣种拙 #376; 埴鸽株 …

c. †牾种
3. 恢株葜 † 赘种粗蛛 埴株
† 综株 系种弥蛛 粗 †惘种Ÿ /nobr>

撞 #353; †诸更 ˆ埴 Ÿ帚恢 /nobr>

ˆ弥 埴更 埴 系种弥 埴更Ÿ株 祁 /nobr>

#8226;之舟犏 仓更植指 局 † †织 /nobr>

埴株 弥粗— #376;株 骑 …

d. 弥执抵
酌吱 #376; /nobr>

4. 综诌 镜肿ŒŸ 埴 抵泣 拙挚局置 /font>

综 局泣 埴值衷 埴更 埴 弥执郑抵 /nobr>

更苤Ÿ种 祁 …

坻 #8482; :

a

b c d

(A) 1

2

3 4

(B) 4

1

2 3

(C) 3

4

1 2

(D) 2

3

4 1

11. 粗之志 弥用种  #376; 粗 弥状粗谆 #376; 祁 /font>

(A) 粗之志 弥用种 尜Ÿ 婢种援帚粗之 /font>

(B) 粗之志 弥用种 Ÿ种谆舟
(C) 埴疮之诌 抵株•之种
(D) ˆ更株ŒŸ 弥持 /font>

12. 桩执谆肿苤Ÿ 粗 弥 ‘弥执宙灼 弥诸舟更 /font>’ 埴 /font>

†局指种 埴 综之株 献Ÿ织种 综种 ?

(A) 仓 #8482;‡弥 †诸更 葜株疮指 #8226;痔
(B) 仓 #8482;‡弥 †诸更 ‹粗更弥
(C) 葜株疮指 #8226;痔 †诸更 ‹粗更弥
(D) 葜烛™ †诸更 葜株疮指 #8226;痔
13. 粗之志 弥用种 抵株•之种 坳 Œ抵 恢殖 骑 ?

(A) 抵 埴仲粗埴蛛 埴 持⒅ 粗 状 #376;志抵抵Ÿ种 恢之株
坳 谆 #8249; …

(B) 埴仲粗埴 献畚种†蛛 埴 弥虞 #353; 坳 持志诌
恢醯种 弥 铣种局恐只诌 弥愦株恢 撞 #353; 坳 /nobr>

谆 #8249; …

(C) 粗之志 弥用种 埴 ˆ抵株纵 #376;种 粗 弥悻 种更
恢之株 坳 谆 #8249; …

(D) ˆ更株ŒŸ 弥持 Page 6
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14. Human Resource Management

includes 

1. Employee Grievance

2. Organizational climate

3. Job incentives

4. Recruitment

5. Selection

Select the correct answer from the

following :

(A) 1, 2, 3 and 4

(B) 1, 3, 4 and 5

(C) 1 and 5

(D) All of the above

15. Match the following :

a. Job

Analysis

1. Determining

worth of a job.

b. Job

Evaluation

2. Examining how

work adds value

to the ongoing

process.

c. Job Design 3. Determining the

pertinent facts

about the job.

d. Work Flow

Analysis

4. Organizing

work into the

tasks required to

perform

a

specific job.

Codes :

a b c d

(A) 1 2 3 4

(B) 4 3 2 1

(C) 3 1 4 2

(D) 2 3 1 4

16. Which ratio explains that how much

portion of earning is distributed in

the form of dividend ? 

(A) Dividend – Debt Ratio 

(B) Equity – Debt Ratio

(C) Pay-out Ratio

(D) Earning – Yield Ratio

17. Modern approach to financial

management is

I. The total fund requirement of

the firm.

II. The asset to be acquired.

III. Payment of dividend to

shareholders.

(A) I only

(B) II only

(C) II & III only

(D) I, II & III

18. Participating preference shares are

those which participate in the 

(A) general meeting of the company 

(B) voting

(C) profits over and above their

fixed dividend

(D) management of the company

19. Which of the following is one of the

critical assumptions of Walters’

Model ?

(A) All financing is done through

retained earnings; external

sources of funds like debt or

new equity capital are not used.

(B) The retention ratio, once

decided upon, is constant.

Thus, the growth rate, (g = br)

is also constant.

(C) The capital markets are perfect

and the investors behave

rationally.

(D) All of the above.

20. This consists of two lists of

statements or terms and the candidate

has to match an item in one list with

an item in the other :

List-I

(Statement)

List-II

(Terms)

a. Preventing

hostile takeover

1. Management

buyout

b. Leveraged

buyout

2. Green mail

c. Accounting for

merger

3. Pooling of

interest

d. Financing for

merger

4. Cash offer

Codes :

a b c d

(A) 1 2 3 4

(B) 2 1 4 3

(C) 2 1 3 4

(D) 3 4 2 1

21. What kind of pricing strategy a firm

should normally follow for marketing

electronic goods ?

(A) Penetration pricing strategy

(B) Skimming pricing strategy

(C) Cost plus pricing strategy

(D) All of the above Page 7
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14. 粗之志 弥用种 喜之 粗 弥状粗谆 #376; 祁 /font>

1.

埴粗 #8220;种更 卓舟抵Ÿ /nobr>

2.

弥虞 #353;种Ÿ粗埴 局 #376;种局更拗
3.

•种虿 现 #376;弥制 /nobr>

4.

持⒅ /nobr>

5.

“值之 /nobr>

桩执 粗 弥 弥泣 ˆ⒅更 埴 “值之 埴咦• #8249; :

(A) 1, 2, 3 †诸更 4

(B) 1, 3, 4 †诸更 5

(C) 1 †诸更 5

(D) ˆ更株ŒŸ 弥持 /font>

15. 桩执 粗 弥愦株恢 撞 #353;‡‹

a. •种虿 /font>

拙挚恢曷洲 /nobr>

1. •种虿 埴 粗泣⒕ 桩脂种愿 /font>

埴更 …

b. •种虿 /font>

粗婊抵钟埴
2. 抵泣 更啧洲 埴更 综 “只 /font>

更泣 献畚种 粗 埴值衷 综 #376;之诌
粗婊抵局樽 埴更Ÿ种 祁 …

c. •种虿 /font>

#8250; #8226;种‡
3. •种虿 坳 献Ÿ 现弥幼葜埴Ÿ种 埴 /font>

桩脂种愿 /nobr>

d. 埴值衷
暇种泣
拙挚恢曷洲 /nobr>

4. 综诌 拙肿恐 #8482; •种虿 坳 /font>

桩致证 坳 谆 #8249; 综诌
埴值衷 埴株 坶 #376;抵蛛 粗 /nobr>

†值种曜• #376; 埴更 …

坻 #8482; :

a

b c d

(A) 1

2

3 4

(B) 4

3

2 1

(C) 3

1

4 2

(D) 2

3

1 4

16. 埴诸 弥 †惘种Ÿ 抵泣 茂致™ 埴更Ÿ种 祁 综 恢殖种涌 坳 /font>

湖 粗 †值 埴 埴诸 弥 持州 拙 #376;肿更Ÿ 综种 葜抵 /nobr>

祁 ?

(A) 恢殖种涌 – Š †惘种Ÿ /font>

(B) ‡ #338;局™ – Š †惘种Ÿ /font>

(C) †值州诌 †惘种Ÿ /font>

(D) †值 – †•衷 †惘种Ÿ /font>

17. 拙症诌抵 喜之 埴 †脂帚桩舟 †壮州执 祁 /font>

I.

柄粗 埴 坫 庇 #8250; 埴 †志挚抵埴Ÿ种
II. 赘执注值种 •种 苤更撙 •种 骑 …

III. 恐甑指指 埴株 恢殖种涌 埴 †值州诌
(A) 坳只 I

(B) 坳只 II

(C) 坳只 II †诸更 III

(D) I, II, †诸更 III

18. †局卓致™种葜 †赚执种 恐甑指 局 骑 •种 持州 恢 #376;株 骑 /font>

(A) 埴疮之诌 埴 弥执种 仓 #353; 粗 /font>

(B) 粗Ÿ证 粗 /font>

(C) † 酌Ｖ更 恢殖种涌 坳 †恢志种 恢殖 粗 

(D) 埴疮之诌 坳 喜之 粗 …

19. 桩执谆肿苤Ÿ 粗 弥 局只™ 粗烛› 埴 葜闯诌更
埴化之种†蛛 粗 弥 ‹埴 祁 :

(A) 弥持 拙症诌抵 株轮拗 献Ÿ脂种赘 #376; †值 弥 /font>

综种 •种Ÿ种 祁 埴株轮蛛 坳 仓质 闹株Ÿ种 抵Ｖ /nobr>

Š †Ｖ局 局 †涌 嫜•诌 埴株 系帚ŒŸ 泣 /nobr>

综种 •种Ÿ种 …

(B) 献Ÿ脂种赘 #376; †惘种Ÿ #8226;置舟 ‹埴仓指 桩洲衷抵
谆值种 祁 局泣 酌Ｖ更 泣株Ÿ 种 祁 … ‡弥谆 #8249; 局樽 
更 (g = br) 持 酌Ｖ更 祁 …

(C) 嫜•诌 仓 #8226;种更 孓衷 祁 †诸更 桩志株恐埴 拙志株埴孓衷
镜志制更 埴更Ÿ株 骑 …

(D) ˆ更株ŒŸ 弥持 /font>

20. ‡弥粗 埴Ｖ蛛 †Ｖ局 恐菠 埴 株 弥孀“值种  葜‡ 

骑 … ‡ 粗蛛 埴株 弥愦株谆 #376; 埴咦• #8249;

弥 #8220;诌 – I (埴Ｖ)

弥 #8220;诌 – II (恐菠 

a. 拙指戡种Ÿ粗埴 ” /font>

弥 仓“种 /nobr>

1. 喜之 埴 畚 /font>

b.  #376;诌 畚 /font>

2. 葜线 粗昊 /font>

c. 弥拥种 #8226;之 坳 谆 #8249;

恢贶种
3. 驳种• 埴株
‹埴住 #376; 埴更 /nobr>

d. 弥拥种 #8226;之 埴 拙症诌抵
株轮拗
4. 埴 厦Ÿ种局
坻 #8482; :

a

b c d

(A) 1

2 3 4

(B) 2

1 4 3

(C) 2

1 3 4

(D) 3

4 2 1

21. ‡恢 #338; ™尹株桩舟 局 #376;帚† 蛛 坳 拙织洲之 坳 谆 #8249; 综 /font>

羡 更 埴 粗婊 抵 桩脂种愿  镜宙 更“之种 埴株 ‹埴 柄粗 /nobr>

† #376;诌 祁 ?

(A) 持辘 粗婊抵 桩脂种愿 镜宙泣 更“之种
(B) 粗恢 #8225; ˆŸ种更 埴 粗婊抵 桩脂种愿 镜宙泣 更“之种
(C) 恢州 #376; 弥 †赚舟 粗婊抵 桩脂种愿 镜宙泣 更“之种
(D) ˆ更株ŒŸ 弥持 /font>Page 8
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22. Which fact is true about on-line

marketing ?

(A) A website which is user-

friendly.

(B) A website which is user-

friendly and regularly updated.

(C) A website which is user-

friendly, regularly updated and

make product’s graphical

image available.

(D) A website which is user-

friendly, regularly updated,

provides product’s graphical

image and product’s price is

competitive.

23. Which of the following function

involved

under

marketing

management’s function ?

1. Collection

of

market

information

2. Marketing coordination

3. Marketing controlling

4. All the above

Codes :

(A) 1 & 2

(B) 2 & 3

(C) 3 only

(D) 4 only

24. Two statements are given below :

Statement – I : Product concept of

marketing holds that consumers

would favour those products

that are available and highly

affordable.

Statement – II : Production concept

of marketing holds that

consumers would not buy

enough of the company’s

product unless the company

undertakes a substantial

promotional effort.

Choose the correct option from the

four options given below :

(A) Statement I is correct and II is

wrong.

(B) Statement II is correct and I is

wrong.

(C) Both statements are correct.

(D) Both statements are wrong.

25. Match the following :

List-I

List-II

a. Differentiation 1. How familiar

and intimate

consumers

are with the

brand.

b. Esteem

2. The degree

to which a

brand is seen

as different

from others.

c. Relevance

3. How well the

brand is

regarded and

respected.

d. Knowledge 4. The breadth

of a brand’s

appeal.

Codes :

a b c d

(A) 1 2 3 4

(B) 2 3 4 1

(C) 3 4 1 2

(D) 4 3 2 1

26. Work measurement refers to

(A) the length of time it takes to

complete a work task assigned

to a specific job.

(B) improving work methods.

(C) arrangement of machines

according to operations.

(D) planning the work and working

for the plans.

27. Facility planing includes 

(A) Determination of production

capacity

(B) Determination of production

facilities location

(C) Determination of the layout

(D) All the above Page 9
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22. †之 恢 #8225; 拙织洲之 坳 弥婴衷 粗 埴诸 弥 Ÿ郑抵 弥泣 /font>

祁 ?

(A) ‹埴 局瓴置种‡™ •种 系种贻舟种 坳 谆 #8249;

粗睢诌孓 衷 祁 …

(B) ‹埴 局瓴置种‡™ •种 系种贻舟种 坳 谆 #8249;

粗睢诌孓衷 祁 •种 桩值肿粗Ÿ 湖 弥 † #376;之 /nobr>

泣株Ÿ种 祁 …

(C) ‹埴 局瓴置种‡™ •种 系种贻舟种 坳 谆 #8249;

粗睢诌孓衷 祁 桩值肿粗Ÿ 湖 弥 † #376;之 泣株Ÿ种 祁 /nobr>

†诸更 ˆŸ证 坳 #8220;帧 持 ˆ恢铂 骑 …

(D) ‹埴 局瓴置种‡™ •种 系种贻舟种 坳 谆 #8249;

粗睢诌孓衷 祁 桩值肿粗Ÿ 湖 弥 †Ÿ之 泣株Ÿ种
祁 ˆŸ证 坳 #8220;帧 ˆ恢铂 骑 †诸更 ˆŸ证 /nobr>

粗婊抵 茂脂种 #376;粗埴 祁 …

23. 桩执谆肿苤Ÿ 埴值种 粗 弥 埴诸 弥 拙织洲之 喜之
坳 埴值种 粗 弥状粗谆 #376; 祁 ? 

1.

仓 #8226;种更 弥 #8220;之种 埴 ‹埴≈咣 /nobr>

2.

拙织洲之 弥粗值 /nobr>

3.

拙织洲之 桩值之≈拗
4.

ˆ更株ŒŸ 弥持 /nobr>

坻 ™ :

(A) 1 †诸更 2

(B) 2 †诸更 3

(C) 坳只 3

(D) 坳只 4

24. †株谆肿苤Ÿ 株 埴Ｖ 骑 /font>

埴Ｖ I : 拙织洲之 埴 ˆŸ证 †局指种 埴 /nobr>

粗之抵Ÿ种 祁 综 ˆ持株ŒŸ种 ˆ ˆŸ证 /nobr>

埴株 †赚执种 り种 •种 ˆ恢铂 骑 •种 /nobr>

ˆ弥埴 †Ÿ抵赚舟 畚 踔粗Ÿ种 粗 祁 …

埴Ｖ II :拙织洲之 埴 ˆŸ证 †局指种 埴 /nobr>

粗之抵Ÿ种 祁 综 ˆ持株ŒŸ种 埴疮之诌 坳 /nobr>

ˆŸ证 埴株 抵衷 #376; 粗帧种 粗 Ÿ植 Ÿ舟 畚 /nobr>

泣 埴戈种 •植 Ÿ舟 埴疮之诌 ˆ坳 谆 #8249;

抵衷 #376; 弥泳脂衷 系种弥 泣 埴更Ÿ诌 …

桩执谆肿苤Ÿ “种更 拙舟蛛 粗 弥 弥泣 ˆ⒅更 埴 /nobr>

“值之 埴咦• #8249; :

(A) 埴Ｖ I 弥泣 祁 †诸更 埴Ｖ II 葜恢Ÿ 祁 …

(B) 埴Ｖ II 弥泣 祁 †诸更 埴Ｖ I 葜恢Ÿ 祁 …

(C) 株 种 埴Ｖ 弥泣 骑 …

(D) 株蛛 埴Ｖ 葜恢Ÿ 骑 …

25. 桩执谆肿苤Ÿ 埴 状只种 埴咦• #8249; :

弥 #8220;诌 – I

弥 #8220;诌 – II

a. 拙殖株咣 1. 仓沃 #8250; 埴株 ˆ持株Œ Ÿ种
综 #376;之诌 桩舟 #8482; #376;种 弥 /nobr>

•种Ÿ株 骑 …

b. ”局
2. 仓沃 #8250; 埴株 综 弥叽种
Ÿ舟 † 弥 †恢葜
り种 •种Ÿ种 祁 …

c. 拙挚局弥叩 #376;种 3. 仓沃 #8250; 埴 综 弥叽种
Ÿ舟 弥创种 Ÿ郑种 †证 /nobr>

骑 …

d. –种
4. 仓沃 #8250; 坳 †舟衷 埴 /font>

拙置Ÿ种更
坻 #8482; :

a

b c d

(A) 1

2 3 4

(B) 2

3 4 1

(C) 3

4 1 2

(D) 4

3 2 1

26. 埴值衷 粗织之 弥 †壮织窒值 祁 :

(A) 综诌 拙肿恐 #8482; •种虿 埴株 驻种 葜抵 埴值衷 娓
埴更 坳 谆 #8249; 恢葜 局只种 弥粗抵 …

(B) 埴值衷 拙肿 埴 弥悻种更 …

(C) 埴值衷 坳 †阚纡恢 粗恐弋种 埴株 镜志肿茫 #376; /font>

埴更 …

(D) 埴值衷 埴 桩值种 #8226;之 †诸更 抵株•之种 †忝种更
埴值衷 埴更 …

27. 弥阕局 桩值种 #8226; 之 粗 弥状粗谆 #376; 祁 /font>

(A) ˆŸ证 踔粗Ÿ种 埴 桩脂种愿 /font>

(B) ˆŸ证 弥阕局 弥床之 茫种 埴 桩脂种愿 /font>

(C) 恢 #8224; #710;™ 埴 桩脂种愿 /font>

(D) ˆ更株ŒŸ 弥持 /font>Page 10
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28. Match the following :

a. For fraction or

proportion of

defects

1. R-chart

b. For number of

defects

2. C-chart

c. For number of

defects for unit

3. nP-Chart

d. For monitoring

process

variability

4. P-Chart

Codes :

a b c d

(A) 1 2 3 4

(B) 4 3 2 1

(C) 2 1 4 3

(D) 3 4 1 2

29. Statement – I : One of the major

causes of the industry for larger

capacity is the argument that

large facilities facilitate greater

economies of scale. But the

major concern for building big

capacity is that funds will be

tied up or scarcity of funds.

Statement – II : A viable alternative

to larger capacity production

facilities is to develop sub-

contractor

and

supplier

networks.

(A) Both statements I & II are

correct.

(B) Both statements I & II are

false.

(C) Statement I is correct and II is

false.

(D) Statement II is correct and I is

false.

30. In a symmetrical distribution

(A) Mean, Median and Mode

values are identical.

(B) Mean, Median and Standard

Deviation are equal.

(C) Mean, Median and Correlation

are equal.

(D) None of the above

31. From the following, identify the test

which can be used both as parametric

and non-parametric ?

(A) ‘t’ test

(B) ‘F’ test

(C) ‘Chi-square’ test

(D) ‘Wil-coxon’ test

32. Arrange the following in ascending

order in the testing of hypothesis :

(i) Determining the level of

significance

(ii) Deciding the Statistical Test

and computation

(iii) Setting the hypothesis

(iv) Decision

Codes :

(A) (iii), (ii), (i) and (iv)

(B) (iii), (i), (ii) and (iv)

(C) (i), (iii), (ii) and (iv)

(D) (i), (iii), (iv) and (ii)

33. Y = a + bX refers to

(A) Y = independent variable, a = slope

of the line, b = Y intercept and 

X = dependent variable

(B) Y = dependent variable, a = slope

of the line, b = Y intercept and 

X = independent variable

(C) Y = independent variable, 

a = dependent variable, b = Y

intercept and X = slope of the line

(D) Y = dependent variable, a = Y

intercept, b = slope of the line

and X = independent variable 

34. Select the most appropriate option

from Column B against the items in

Column A :

Column A

Column B

a. Computer used to

operate large

corporate systems

and databases

1.Components

of

information

system

b. Data flow diagram 2. RAID

c. Equipment, proce-

dures and end user

3. Structured

design

Codes :

a b c

(A) 3 2 1

(B) 2 3 1

(C) 1 2 3

(D) 2 1 3

35. According to Michael Porter, a strategy

aims at producing products and

services considered unique industry

wide and directed at consumers who

are relatively price-insensitive is

known as

(A) Cost Leadership – Best Value 

(B) Differentiation

(C) Focus – Low Cost

(D) Focus – Best Value Page 11
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28. 桩执谆肿苤Ÿ 埴株 弥愦株谆 #376; 埴咦• #8249; :

a. 埴状值种 坳 †涌 †Ｖ局 /font>

†惘种Ÿ 坳 谆 #8249;

1. †指 – “种™渣
b. 埴状值种 埴 弥榆抵 坳 谆 #8249; 2. 弥 – “种™渣
c. 献Ÿ ‡埴 #8225; 埴状值种 埴 /font>

弥榆抵 坳 谆 #8249;

3. ‹  – “种™渣
d. 献畚种 拙肿持 #376;种 埴 /font>

り殖种恢 坳 谆 #8249;

4.  – “种™渣
坻 #8482; :

a

b c d

(A) 1

2 3 4

(B) 4

3 2 1

(C) 2

1 4 3

(D) 3

4 1 2

29. 埴Ｖ I : ˆ贻 埴 ˆ““ #376;指 踔粗Ÿ种 坳 踔 粗 /font>

‹埴 洗帚苤 埴指 抵泣 祁 综 ‡弥弥 /nobr>

状 #376;志抵抵Ÿ种 坳 ˆ““ #376;指 #376;指 现 #376; /nobr>

泣株Ÿ株 骑 更 #376;帚 ‡弥 持指 踔粗Ÿ种 埴株
仓之株 粗 洗帚苤 #8220;之Ÿ种 抵泣 祁 综 ‹昝种
埴更 弥 埴株轮蛛 埴 埴粗 † •种抵贻诌 …

埴Ｖ II : ˆ““ #376;指 踔粗Ÿ种 坳 ˆŸ证 弥阕局 #8224;蛛
埴 镜志制抵 拙舟 泣株葜 综 ˆ
š挈坳更 †诸 †织宙 #376;舟种 埴  #8482; 舟扎
仓值种 •种‹ … 

(A) I †诸更 II 株蛛 埴Ｖ 弥泣 骑 …

(B) I †诸更 II 株蛛 埴Ｖ 葜恢Ÿ 骑 …

(C) I 埴Ｖ 弥泣 祁 †诸更 II 葜恢Ÿ 祁 …

(D) II 埴Ｖ 弥泣 祁 †诸更 I 葜恢Ÿ 祁 …

30. 弥粗状 #376;诌抵 拙 #376;指 粗 /font>

(A) †诸弥Ÿ 粗肿舟 †诸更 粗舟 粗婊抵 弥粗之 /font>

骑 … 

(B) †诸弥Ÿ 粗肿舟 †诸更 粗之舟 拙 #8220;只之 /font>

弥粗之 骑 …

(C) †诸弥Ÿ 粗肿舟 †诸更 弥泣弥床之 弥粗之 骑 …

(D) ˆ更株Œ Ÿ 粗 弥 埴株‡ 泣 …

31. 桩执谆肿苤Ÿ 粗 弥 ˆ弥 更啧洲 埴 泣“种 埴咦• #8249;

•种 现“肿恢埴 ‹局 葜罡 现“肿恢埴 株蛛 坳 谆 #8249;

系帚ŒŸ 综种 •种 弥埴Ÿ种 祁 :

(A) ‘™’ 更啧洲 /font>

(B) ‘‹柄’ 更啧洲贮
(C) ‘埴 #8225; 蜜种抵更’ 更啧洲 /font>

(D) ‘拙只 埴 #338;弥之 /font>’ 更啧洲 /font>

32. 现Œ埴化之种 坳 更啧洲 粗 桩执谆肿苤Ÿ 埴株 †指昶
畚 咦• #8249; :

(i) 粗泣⒕ 坳 #376;指 埴 桩脂种愿 /font>

(ii) 弥钟总抵埴 更啧洲 ‹局 葜拗 埴 桩脂种愿 /font>

(iii) 现Œ埴化之种 埴 桩脂种愿 /font>

(iv) 桩洲衷抵
坻 ™ :

(A) (iii), (ii),(i) †诸更 (iv) 

(B) (iii), (i),(ii) †诸更 (iv)

(C) (i), (iii),(ii) †诸更 (iv)

(D) (i), (iii), (iv)†诸更 (ii)

33. Y = a + bx 弥 †壮织窒 抵 祁 /font>

(A) Y = 镁 #376;之≈ “指 a = 戈种 埴 œ种
b = Y 埴 #8482; #376;诌 祁 X = †肿林Ÿ “指 /font>

(B) Y = †肿林Ÿ “指 †诸 a = 戈种 埴 œ种
b = Y 埴 #8482; #376;诌 祁 †诸更 X = 镁 #376;之≈ “指 /font>

(C) Y = 镁 #376;之≈ “指 †诸更 a = †肿林Ÿ “指 /font>

b = Y 埴 #8482; #376;诌 祁 †诸更 X = 戈种 埴 /font>

œ种
(D) Y = †肿林Ÿ “指 a = Y 埴 #8482; #376;诌 祁 /font>

b = 戈种 埴 œ种 †诸更 X = 镁 #376;之≈

“指 /nobr>

34. 埴只执 A 埴 粗蛛 坳 谆 #8249; 埴只执 B 埴 粗蛛 坳 /font>

弥局衷赚舟 ˆ抵 #338;Ÿ 拙舟 埴株 “帚桩 #8249; :

埴只执 A

埴只执 B

a. 埴疮抵 #8482; 埴 拙置Ÿ珠Ÿ /font>

系种贻 桩州执 镜志置Ｖ #8224;蛛
†诸 †钟 #8250;厅蛛 坳 谆 #8249;

综种 •种Ÿ种 祁 …

(i) 弥 #8220;之种
限种恢 坳 /nobr>

‘ #8482; /nobr>

b. †盅埴›厅蛛 埴株 恐衷Ÿ种 #8220;帧 (ii) 戈 #8250; /font>

c. ˆ埴更拗, œ狱葜 †诸更 ‹ #8250; /font>

抵 #8226;指 /nobr>

(iii) œ #8220;种抵 #338;Ÿ /font>

弥痈 #8220;之种
坻 #8482; :

a b c 

(A) (iii) (ii) (i) 

(B) (ii) (iii) (i) 

(C) (i) (ii) (iii) 

(D) (ii) (i) (iii)

35. 粗 #8225;埴恢 株™渣更 坳 †忝种更, ‹埴 镜宙泣 更“之种 #8226;置舟
恢醯 ‹昝株 ˆŸ证 †诸更 弥昃种†蛛 坳 ˆŸ证 泣株Ÿ种 祁 /nobr>

•种 孓 衷 ˆ贻 粗 † #353; 挈 弥粗—株 •种‹ †诸 ˆ埴 /nobr>

驻种 ˆ ˆ持株ŒŸ种†蛛 埴 †株更 泣株Ÿ诌 骑 •种 /nobr>

弥织株踔Ÿ值种 粗婊抵 弥泳株恐呋 泣 泣株Ÿ种, ˆ弥 埴泣Ÿ株 骑 /nobr>

(A) 恢州 #376;  #376;珠Ÿ局 – 弥局朱⒅粗 粗婊抵
(B) 拙殖株
(C) 恢醯 – 桩执 恢州 #376; /font>

(D) 恢醯 – 弥局朱⒅粗 粗婊抵Page 12
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36. In context of Industry Analysis

which matrix allows strategists to

summarise and evaluate economic,

social, cultural, demographic,

environmental,

political,

governmental, legal, technological

and competitive information ?

(A) EFE Matrix

(B) CPM Matrix

(C) BCG Matrix

(D) IFE Matrix

37. Which among the following best

describes the process of gaining

competitive advantage in a firm ?

(A) Strengths → Weaknesses →

Distinctive Competencies →

Competitive Advantage

(B) Weaknesses → Strengths →

Distinctive Advantages →

Competitive Advantages

(C) Weaknesses → Strengths →

Distinctive Competencies →

Competitive Advantages 

(D) Distinctive Competencies →

Weaknesses → Strengths →

Competitive Advantages 

38. According to Porter, the nature of

competitiveness in a given industry

can be viewed as a composite of the

following five forces :

1. Rivalry among competing firms.

2. Potential entry of new

competitors.

3. Potential development of

substitute products.

4. Bargaining power of suppliers.

5. Bargaining power of consumers. 

Identify the force which is central

(most powerful) to remaining four :

(A) Potential development of

substitute products.

(B) Potential entry of new

competitors.

(C) Bargaining power of consumers.

(D) Rivalry among competing firms.

39. Match the following :

Organizational

Structure

Advantage

a. Functional

Structure

1. Clarity of project

objectives

b. Divisional

Structure

2. Smooth

delegation of

authority and

responsibility

c. Matrix

Structure

3. Simple and

unexpensive

d. Strategic

Business

Unit (SBU)

4. Ease of fixing

accountability

Codes :

a b c d

(A) 1 2 3 4

(B) 3 4 1 2

(C) 3 4 2 1

(D) 4 3 1 2

40. A sound business opportunity is the

result of appropriate interaction

between :

(A) needs of the society

(B) capabilities of an entrepreneur

(C) resources available in the

environment

(D) all of the above

41. “An entrepreneur always searches for 

change, responds to it and exploit it

as an opportunity.” Who said it ?

(A) F.W. Taylor

(B) Peter F. Drucker

(C) J.R. Tulsian

(D) Max Weber

42. An industrial unit, according to RBI,

is sick if

(A) incurred cash loss in the

previous year.

(B) likely to incur loss in the

following year.

(C) current ratio is less than 1 : 1

with weak debt-equity ratio.

(D) all of the above. Page 13
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36. ˆ贻 拙挚恢曷洲 坳 弥婴衷 粗 埴诸 弥 粗钭™尹Œ弥 镜宙泣
更“之种埴指 埴株 †仲Ｖ埴, 弥执种 #8226;舟 弥钟蜜辁 #376;舟 

•之置种幼艿舟, 抵衷局更拗 更 #8226;之诌 #376;舟 恐置舟抵,

局钭 埴, 现 瞠 株 葜埴 †诸 茂脂种 #376;粗埴 弥 #8220;之种 埴株 弥吁株
埴更 †诸 粗婊 抵钟  埴 † #8211;种 り #376;种 祁 ? 

(A) ‡ ‹柄 ‡ 粗钭™尹Œ弥
(B) 弥  ‹粗 粗钭™尹Œ弥
(C) 仓 弥 •诌 粗钭™尹Œ弥
(D) † #8225; ‹柄 ‡ 粗钭™尹Œ弥
37. 桩执谆肿苤Ÿ 粗 弥 埴诸 弥 献畚种 综诌 柄粗 指
茂脂种 粗 恢殖 † #8226; #376; 埴更 埴 弥局朱⒅粗 拙志指 /nobr>

り #376;诌 祁 ? 

(A) 仓恢 → 桩植衷恢Ÿ种‹ → 拙肿恐 #8482; 弥执郑抵 /font>

→ 茂脂种 恢殖 /font>

(B) 桩植衷恢Ÿ种‹ → 仓恢 → 拙肿恐 #8482; 恢殖 →

茂脂种 恢殖 /nobr>

(C) 桩植衷恢Ÿ种‹ → 仓恢 → 拙肿恐 #8482; 弥执郑抵 /font>

→ 茂脂种 恢殖 /font>

(D) 拙肿恐 #8482; 弥执郑抵 → 桩植衷恢Ÿ种‹ → 仓恢
→ 茂脂种 恢殖 /font>

38. 株™渣更 坳 †忝种更, 综诌 悉 ˆ贻 粗 茂脂种 埴 /font>

羡辁 #376; 埴株 桩执谆肿苤Ÿ 盅“ 恐 #338;Ÿ值种 坳 弥状粗林
坳 湖 粗 り种 •种 弥埴Ÿ种 祁 :

1.

献Ÿ置 柄粗猪 粗 献Ÿ值种曜葜Ÿ种
2.

局 献Ÿ置佻值种 埴 弥映种镜 暇株恐
3.

献Ÿ置Ｖ肿Ÿ ˆŸ证 埴 弥映种镜 拙舟弥
4.

†织宙 #376;舟种 #8224;蛛 埴 弥诸 恐 #338;Ÿ /nobr>

5.

ˆ持株ŒŸ种†蛛 埴 弥诸 恐 #338;Ÿ /nobr>

ˆ弥 恐 #338;Ÿ 埴 泣“种 埴咦• #8249; •种 † “种更
恐 #338;Ÿ值种 坳 坳 (弥局衷赚舟 恐 #338;Ÿ挚种恢 粗 祁 /nobr>

(A) 献Ÿ置Ｖ肿Ÿ ˆŸ证 埴 弥映种镜 拙舟弥
(B) 局 献Ÿ置佻值种 埴 弥映种镜 暇株恐
(C) ˆ持株ŒŸ种†蛛 埴 弥诸 恐 #338;Ÿ /font>

(D) 献Ÿ置 柄粗猪 粗 献Ÿ值种曜葜Ÿ种
39. 桩执谆肿苤Ÿ 埴株 弥愦株谆 #376; 埴咦• #8249; :

弥虞 #353;种Ÿ粗埴
弥痈 #8220;之种
恢殖 /b>

a. 埴值种 #376;粗埴 弥痈 #8220;之种 1. 赘种 #8226;之种 坳 ˆш抵蛛
埴 茂致™ #376;种
b. 苤 #8250;抵 弥痈 #8220;之种 2. †赚舟更蛛 †诸更
肿抵Ÿ局蛛 埴 桩仲局‘
 #376;抵值种 #8226; 之 /nobr>

c. 粗钭™尹Œ弥 弥痈 #8220;之种
3. 弥更恢 ‹局 撞之种 镜值 /font>

d. 镜宙泣更“之种戬值种贻诌
镜志置种抵 ‡埴 #8225; /nobr>

(‹弥仓叩宙)

4. •志种仓り 桩肿 #8220; #376; /font>

埴更 埴 弥爿执 #376;种
坻 #8482; :

a

b c d

(A) 1

2 3 4

(B) 3

4 1 2

(C) 3

4 2 1

(D) 4

3 1 2

40. ‹埴 镁置Ｖ 镜志置种抵 †局弥更 ˆ抵 #338;Ÿ † #376; 综晰抵 /font>

坳 柄恢镁趾 瞍 泣株Ÿ种 祁 :

(A) 弥粗 #8226; 埴 †志挚抵埴Ÿ种†蛛 坳 仓 #8220; /font>

(B) ‹埴 ˆ诌 埴 踔粗Ÿ种†蛛 坳 仓 #8220; /font>

(C) 赘株恐 粗 ˆ恢铂 闹株Ÿ种 坳 仓 #8220; /font>

(D) ˆ更株ŒŸ 弥持 /font>

41. “‹埴 ˆ诌 弥ゎ 赘 #376;衷 埴 苤株• 埴更Ÿ种 祁 

‡弥埴 ˆ⒅更 り #376;种 祁 †诸更 ‡弥 †局弥更 埴 弥粗惘值种贻 /nobr>

埴更Ÿ种 祁 …” ‹昝种 综之株 埴泣 Ｖ ?

(A) ‹柄. ›坏宙. ™挈抵恢更
(B)  #8482; ‹柄. ›尹埴更
(C) •株.†指 Ÿ帚恢酌值种
(D) 粗 #338; 弥 局瓴指 /font>

42. †指 仓 † #8225; 坳 †忝种更, ‹埴 †诸曜葜埴 ‡埴 #8225; /font>

埴株 仓叽种更 弥粗—种 •种Ÿ种 祁 抵驻 /nobr>

(A) ˆ弥 庄 #8221;株 局轮 粗 埴 泣肿 ˆš‡ 泣株 …

(B) †葜恢 局轮 粗 泣肿 泣株 埴 弥映种局 泣株 …

(C) 埴粗•种旮 Š ‡ #338;局™ †惘种Ÿ 坳 弥郑 /font>

粗诸•宙 †惘种Ÿ 1 : 1 泣株 …

(D) ˆ更株ŒŸ 弥持 /font>Page 14
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43. Which is not the object of

Entrepreneurship

Development

Programmes ?

(A) To create successful entrepreneur

(B) To remove doubts of

entrepreneurs and to give

solutions to the problems

(C) To create awareness about

Government schemes and

programmes 

(D) None of the above

44. Match the following :

a. Central

Manufacturing

Institute

1. Deals

with

paper industry

b. Central Pulp

and Paper

Research

Institute

2. Deals with

pollution

control in

Indian

Tannerics

c. Central leather

Research

Institute

3. Deals with

Machine Tools

d. Electronic

Service and

Training Centre

4. Deals with

training,

technical and

consultancy

services

Codes :

a b c d

(A) 1 2 3 4

(B) 3 1 2 4

(C) 2 3 4 1

(D) 4 3 1 2

45. The customer joining the queue and

leaving it afterwards is defined as

(A) Jockeying

(B) Balking

(C) Reneging

(D) None of the above 

46. Which among the following is not

correct with regards to Clause 49 of

SEBI Act ?

(A) It came into effect from 31st

December 2005.

(B) Clause 49 is related to the

Listing Agreement to the

Indian Stock Exchange. 

(C) It desires 50 percent

independent Directors.

(D) None of the above

47. Which of the following powers of

Directors cannot be exercised

without the consent of shareholders

in General Meeting ?

(A) Power to make calls on

shareholders

(B) Power to make loans

(C) Power to buy back its shares

(D) Power to borrow monies

exceeding the aggregate of the

paid-up capital of the company

and its free reserves.

48. The professional having high ranking

and trained to uphold the highest

standard and effective operations,

compliance and administration as

corporate governance, is known as 

(A) Directors of Company

(B) Chairman of Company

(C) Company Secretary

(D) Shareholders

49. Governance is the system of values,

policies and institutions by which a

society manages its economic,

political and social affairs through

interactions within and among the

state, civil society and private sector

is defined by

(A) World Bank

(B) UNDP

(C) European Commission

(D) None of the above

50. Match the following with regards to

environmental ethical issues :

a. Ozone

Depletion

1. Lead poisoning

b. Environmental

Health

2. Deforestation

c. Logging

3. Food

controversies

d. Genetic

Engineering

4. CFC

Codes :

a b c d

(A) 4 2 1 3

(B) 4 1 2 3

(C) 4 3 2 1

(D) 4 3 1 2 Page 15
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43. 埴诸 弥 ˆш抵 ˆ志珠注 拙舟弥 埴值衷畚种 埴 /font>

泣 祁 ?

(A) 弥柄恢 ˆ诌 仓之种
(B) ˆ粗抵蛛 坳 弥涌值种 埴株 ゆ 埴更 †诸更
弥粗玫种†蛛 埴 弥粗脂种 埴更 /nobr>

(C) 弥更埴指 蜜粗蛛 †诸 埴值衷 晰 粗蛛 坳 献 Ÿ /font>

•种葜湖埴Ÿ种 瞍 埴更 /nobr>

(D) ˆ更株Œ Ÿ 粗 弥 埴株‡ 泣 /font>

44. 桩执谆肿苤Ÿ 埴株 弥愦株谆 #376; 埴咦• #8249; :

a. 垭抵 拙肿粗衷拗
弥用Ｖ /nobr>

I. 埴州 #8226; ˆ贻 弥 /font>

弥床钟赚 #376; /nobr>

b. 垭抵 恢爿证 ‹局 /font>

埴州 #8226; †忝钟之 /nobr>

弥用Ｖ /nobr>

II. 持指 #376;诌抵 “执衷恐株埴蛛
粗 悉 纥轮拗 桩值钟≈拗
弥 弥床钟赚 #376; /nobr>

c. 垭抵 “执 #8250;厅 †忝钟之 /font>

弥用Ｖ /nobr>

III. 粗恐弋 †诸• 种更蛛 弥 /font>

弥床钟赚 #376; /nobr>

d. ‡恢 #338;™尹肿埴 弥昃种 ‹局 /font>

献恐踔拗 垭 /nobr>

IV. 献恐踔拗, Ÿ舟诌埴 /font>

‹局 /nobr>

更执挚衷
弥昃种†蛛
弥 /nobr>

弥床钟赚 #376; /nobr>

坻 #8482; :

a

b c d

(A) I

II III IV

(B) III I

II IV

(C) II III IV I

(D) IV III I II

45. ‹埴 ˆ持株ŒŸ种 •种 埴Ÿ种更 粗 暇株恐 埴更Ÿ种 祁 †诸更
Ÿ #376; #8220;种Ÿ炙 ‡弥 ” #8250;厅 り #376;种 祁 ˆ弥埴 赘种轮 祁 /nobr>

(A) •种蜃埴氐州 /font>

(B) 仓重慧 /font>

(C) 戈株 #8226;州 /font>

(D) ˆ更株Œ Ÿ 粗 弥 埴株‡ 泣 /font>

46. 弥瓴诌 †赚肿抵粗 坳 † #8220;”犒 49 坳 †忝种更
桩执谆肿苤Ÿ 粗 弥 埴诸 弥 弥泣 泣 祁 ? 

(A) 抵泣 †赚肿抵粗 31 驻执仓更, 2005 埴株
恢州宙 沏 #8224; …

(B) 持指 #376;诌抵 #8482;贳 ‹Œ弥“蛛• 坳 弥郑 弥 #8220;诌仓
泣株 株 埴株 弥幼局 † #8220; ”犒 49 弥 弥床钟赚 #376; 祁 …

(C) 抵泣 50 献Ÿ挚 #376; 镁 #376;之≈ 桩证禳恐埴蛛 埴 粗盅葜
埴更Ÿ种 祁 …

(D) ˆ更株Œ Ÿ 粗 弥 埴株‡ 泣 …

47. 桩执谆肿苤Ÿ 粗 弥 桩证禳恐埴 坳 埴诸 弥 †赚舟更蛛
埴 系种贻 弥执种 弥持 粗 †涌脂种更埴蛛 埴 弥泣粗 #376; /nobr>

坳 撞之种 泣 综种 •种 弥埴Ÿ种 ?

(A) †涌 脂种更埴蛛 弥 弥泳种 更“种 埴 †赚舟更
(B) Š り株 埴 †赚舟更
(C) † †涌种 埴 惝周衷更撙 埴 †赚舟更
(D) 埴疮之诌 坳 坫 悉 嫜•诌 弥 持 †赚舟 /font>

ˆ指 恢戤 株 †诸 ˆ弥埴 粗 #338; Ÿ 弥幼 “ #376; 
恢戤株 埴 †赚舟更
48. 埴疮之诌 坳 峡种弥 脐 #376;帚 昕株局更 ˆ““种赚舟更 †诸更
•种 ˆ““ #376;执 粗织证› 埴株 茫种庄 #376; 埴更 坳 谆 #8249;

献恐柞 #376; 祁 ‹局 铣种局 埴值衷恐呋 祁 †证挈恐蛛 埴 /nobr>

只之 埴更局之株 局只种 峡种弥埴 祁 ˆ弥 埴泣Ÿ株 骑 – 

(A) 埴疮之诌 坳 桩证禳恐埴
(B) 埴疮之诌 埴 “株抵更粗町 /font>

(C) 埴疮之诌 弥 #8220;志 /font>

(D) †涌 脂种更埴
49. 恐置之 限种恢 粗婊抵蛛, 咦Ÿ值种 †诸更 弥用Ｖ #8224;蛛 埴 /font>

 #376; 祁 #8226;置舟犏 指 弥粗 #8226; †仲Ｖ埴, 更 #8226;之诌 #376;舟 /nobr>

†诸更 弥执种 #8226;舟 埴值种 埴株 更 #8226;抵, 持 弥粗 #8226; †诸更
桩 #8226;诌 踔辍 坳 弥郑 † #376;指 弥泳种 指 桩织 #8482;Ÿ种 祁 …

抵泣 赘种茁 #376; 祁 _______

(A) 拙挚局 仓镗 指
(B) 抵 ‹.›. 指
(C) 抵株更株庄值之 †值种贻 指
(D) ˆ更株Œ Ÿ 粗 弥 埴株‡ 泣 /font>

50. 抵衷局更拗 钭Ÿ舟 弥粗玫种†蛛 坳 弥床之 粗 /font>

桩执谆肿苤Ÿ 埴株 弥愦株谆 #376; 埴咦• #8249; :

a. †株•痔株 赛置 /font>

(i) 弥呙种
拙致种 #338;Ÿ舟 /nobr>

b. 抵衷局更拗叩 镁种茫抵 (ii) 桩志衷咣 /font>

c. 恢近 埴 #8482;种
(iii) 苤知 拙志种
d. •诸拙舟 †壮值种幼≈埴 (iv) 弥 ‹柄 弥 /font>

坻 #8482; :

a b c d 

(A) (iv) (ii) (i) (iii) 

(B) (iv) (i) (ii) (iii)

(C) (iv) (iii) (ii) (i)

(D) (iv) (iii) (i) (ii
